D
TRIGONOMETRIC FUNCTIONS DX COS X:

— COoSX = —sinx
dx

T cos £ = ~f (@) sin £

Recall that product, quotient and chain rule also Common question types:
apply to trigonometric functions.

d
—Acosx =-Asinx

Product Rule: %[f(x)g(x)] = f’(x)g(x) +f(x)g'(x) k dx
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Quotient Rule: — [
dx

d d
3. —Acos‘x = —A(cos x)¢ = —AC(cos x)* Lsinx

. d , / dx dx
Chain Rule: E[f(g(x))] = f(8(x))g (x) J p
4. —secx = —(cosx)™! = —(cosx)?(-sinx) =
dx dx
tan x secx
3.1 WORKED EXAMPLE 3.2 WORKED EXAMPLE

Differentiate 34 cos x with respect to x: Differentiate 8 cos 3x + 9 sin 2x with respect to x:



